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QUESTION 1

Scenario: A Citrix Architect needs to design a new XenApp and XenDesktop environment. 

The architect has identified the Resource Layer requirements shown in the Exhibit. 

Click the Exhibit button to view the requirements. 

Additionally, management at the organization has identified the following general Resource Layer 

requirements: 

The profile solution should be centrally managed. 

The profile solution should minimize logon and logoff times as much as possible. 

User groups do NOT need to use the same profile type. 

Citrix Director should be used for monitoring profiles. 

Which profile type should the architect use for the Executives group? 

A. Local 

B. Microsoft roaming 
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C. Citrix Profile Management 

D. Mandatory 

Correct Answer: B 

 

QUESTION 2

Scenario: A Citrix Architect wants to set up double-hop access for an existing XenApp and XenDesktop Site. All
communication across DMZ 1, DMZ 2, and the Internal Network is encrypted over port 443. The architect has proposed
the design shown in the Exhibit, where DMZ 1 has NetScaler Gateway 1 and DMZ 2 has NetScaler Gateway 2 and
StoreFront. 

Click the Exhibit button to view the design. 

Which two sets of ports should the architect request to enable on Firewall 2? 

A. Port 443 outbound and Port 1494/2598 inbound 

B. Port 443 outbound and Port 80 inbound C. Port 443 outbound and Port 443 inbound 

D. Port 443 outbound and Port 389/636 inbound 

Correct Answer: D 

 

QUESTION 3

Scenario: A Citrix Architect is implementing a new XenApp and XenDesktop environment. 

The customer has stated the following requirements: 

All users must be able to aggregate resources from all Sites. 

Both Sites should be treated as one equivalent farm set. 

User connections should be directed to the New York Site with failover to San Francisco. 

Click the Exhibit button to view the StoreFront configurations. 

Exhibit 1 
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Exhibit 2 
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Based on the configurations, requirement 1 is_____, requirement 2 is _______, and requirement 3 is_______. (Choose
the correct option to complete the sentence.) 

A. met; met; NOT met 

B. NOT met; NOT met; NOT met 

C. NOT met; met; NOT met 

D. met; NOT met; NOT met 

E. met; NOT met; met 

F. met; met; met 

G. NOT met; met; met 

Correct Answer: E 

 

QUESTION 4

A Citrix Architect is designing a new XenApp and XenDesktop environment. The IT team would like to deploy Windows
10 persistent VDI and Windows Server 2016 non-persistent hosted shared desktops. 

The IT team has used physical servers in the past to host the IT infrastructure but would like to move to a hypervisor
solution for the new environment. At the same time, the hardware and storage costs for the new deployment should be
minimized where possible. 

The IT team has requested there are no company-wide outages during hardware updates and maintenance. 

The architect should recommend that failover clusters and live migration be used for _____________ and that these
resource clusters should use ___________storage. (Choose the correct option to complete the sentence.) 

A. Citrix infrastructure only; SAN 

B. Citrix infrastructure only; local 
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C. all XenApp and XenDesktop components; SAN 

D. all XenApp and XenDesktop components; local 

E. Citrix infrastructure and dedicated desktops only; local 

Correct Answer: B 

 

QUESTION 5

Scenario: While assessing the User Layer, a Citrix Architect finds that most of the internal users connect using
corporate-owned laptops, desktop devices, and thin clients. Many of these laptops and desktop devices are running
Windows 10, while the remainder of the machines are running Windows 7 and are in the process of being migrated to
Windows 10. Some users also connect using personal devices which have Receiver Desktop Lock installed. 

Currently, Citrix Receiver is manually installed on any endpoint device added to the company. All these devices use
Citrix Receiver version 4.8 and above. The IT team is planning to automate a process to update all the devices with the
latest version of Citrix Receiver and to automate another process for automatic installation of Citrix Receiver without
incurring extra costs and maintenance. 

During the initial testing of the Citrix Receiver Auto-Update feature, the architect observed that the Citrix Receiver Auto-
Update feature does NOT work on some of the machines. 

Which two reasons could be causing this issue? (Choose two.) 

A. Citrix Receiver was locally installed with administrator-level privileges. 

B. The Group Policy Object for Receiver Auto-Update feature is incorrectly configured in Active Directory. 

C. Citrix Receiver Auto-Update is disabled on machines where Receiver Desktop Lock is installed. 

D. The Citrix Receiver Auto-Update feature needs to be configured before Receiver Desktop Lock is configured. 

Correct Answer: BC 
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